
JustinW
Typewritten Text
For more information contact our team: service.ec@foagroup.com









JustinW
Typewritten Text
Align leg frames (#1,2) to the base frame (#3), then secure by using bolts (#B). Attach adjustable foot (#D) to the leg frames (#1,2).

JustinW
Rectangle



JustinW
Typewritten Text
Align support tube (#8) to the leg frames (#1,2), then secure by using bolts (#C).

JustinW
Rectangle

JustinW
Typewritten Text
Secure base frame (#3) to cabinet (#9) by using bolts (#A).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Secure support tube (#8) to cabinet (#9) by using bolts (#B).

JustinW
Rectangle

JustinW
Line



JustinW
Typewritten Text
Align frames (#6,7) to the unit, then secure by using bolts (#A).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align back panel (#5) to the frames (#6,7), then secure by using bolts (#B).

JustinW
Rectangle



JustinW
Typewritten Text
Align top frame (#4) to the frames (#6,7), then secure by using bolts (#A,B).

JustinW
Rectangle

JustinW
Typewritten Text
Attach USB (#H) to the back panel (#5), then secure by using bolts (#F) with nuts (#G).

JustinW
Typewritten Text

JustinW
Rectangle



JustinW
Typewritten Text

JustinW
Typewritten Text
Wrap belts (#J) onto top frame and hook (#I), then secure by using bolts (#K) with nuts (#L).

JustinW
Rectangle




